

# DISPO INTERNATIONAL BROCHURE 2025

CATERING DISPOSABLES FOR WHOLESALERS & SPECIALIST DISTRIBUTORS



# DISPO INTERNATIONAL BROCHURE 2025

## CATERING DISPOSABLES FOR WHOLESALE & SPECIALIST DISTRIBUTORS

Dispo has developed systems to ensure high product quality at competitive prices, and prompt, reliable deliveries.

From our distribution warehouse in West Yorkshire, adjacent to the M62, we are ideally situated for national and international distribution.

This brochure details our current range of products and services. For more information, help or advice, contact us on:

T: (+44) (0)1924 893600 E: [sales@dispo.co.uk](mailto:sales@dispo.co.uk)

or visit our website at: [www.dispo.co.uk](http://www.dispo.co.uk)



New Kraft Greaseproof Trays



INSULATED WHITE TRIPLE LAYER PAPER CUPS	4
INSULATED KRAFT RIB TRIPLE LAYER PAPER CUPS	5
INSULATED BLACK TRIPLE LAYER PAPER CUPS	6
INSULATED WEAVE-WRAP TRIPLE LAYER PAPER CUPS	7
BARISTA MIXED DESIGN DOUBLE WALL CUPS	8
<b>*NEW KRAFT*</b> BLACK, WHITE & KRAFT DOUBLE WALL CUPS	9
CUP CARRIERS & FOOD SERVICE SUNDRIES	10
CAFE-MOCHA PAPER CUPS AND STIRRERS	11
WHITE HOT DRINK CUPS, LIDS & SLEEVES	12
HEAVY DUTY SOUP CONTAINERS & LIDS	13
BIO PAPER CUPS AND BIO LIDS	14
BIO SOUP CONTAINERS AND BIO LIDS	15
COMPOSTABLE PLASTIC FREE LINING DOUBLE WALL PAPER CUPS	16
BIO DOUBLE WALL PAPER CUPS	17
MIXED DESIGN BAMBOO COMPOSTABLE PAPER CUPS	18
<b>*NEW AQUEOUS PAPER LID*</b> ULTIMATE ECO BAMBOO COMPOSTABLE CUPS	19
AQUEOUS RIPPLE WALL PAPER CUPS	20
<b>*NEW AQUEOUS*</b> PAPER LIDS FOR HOT DRINK PAPER CUPS	21
<b>*NEW SPORK*</b> WOOD & BAMBOO CUTLERY	22-23
COMPOSTABLE PLA SMOOTHIE GLASSES	24
VENDING & NON-VENDING CUPS	25
PRISM PAPER VENDING CUPS	26
COMPOSTABLE COLD DRINK PAPER CUPS & LIDS	27
COLD DRINK PAPER CUPS & LIDS	28
DISPOSERVE FOOD PAILS	29
DISPOPAK FOOD BOXES	30
COMPOSTABLE DISPOPAK SALAD BOXES	31
ROUND KRAFT SALAD BOWLS	32
<b>*NEW 650ML &amp; KRAFT LID*</b> RECTANGULAR KRAFT DELI BOWLS	33
<b>*NEW*</b> KRAFT GREASEPROOF TRAYS	34
<b>*NEW*</b> PAPER SOUFFLE POTS	35
<b>*NEW SIZES*</b> DISPO BAGASSE RANGE	36-37
BAGASSE CUTLERY & BAGASSE SAUCE CONTAINERS	38
RPET CE MARKED TUMBLERS & RED PARTY CUPS	39
KATERGLASS TUMBLERS	40
CE MARKED PP & PLA FLEXI TUMBLERS	41
RPET SMOOTHIE TUMBLERS & LIDS	42
PAPER & PLASTIC STRAWS	43
<b>*NEW PP CHAMPAGNE FLUTES*</b> DISPLAST® GLASSES & BOMB SHOT GLASSES	44-45
<b>*NEW HINGED SAUCE CONTAINERS*</b> SAUCE POTS & DISPOLITE FOOD CONTAINERS	46-47
DISPOTEX® BANQUET ROLLS & TABLECOVERS	48-49
CLEAR REUSABLE CUTLERY & FOIL PLATTERS	50
DISPOTEX® DOYLEYS, TRAYPAPERS & PLACEMATS	51



## INSULATED WHITE TRIPLE LAYER PAPER CUPS

Hot drink board cups with attached insulating jackets for handling comfort and insulation. Cups can also be custom-printed. Our lids are among the heaviest and strongest available in Europe.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
50013	8oz White Ripple Wall Hot Drink Cup	227ml	20 x 25	500	28 Cases
50014	12oz White Ripple Wall Hot Drink Cup	340ml	20 x 25	500	24 Cases
50015	16oz White Ripple Wall Hot Drink Cup	453ml	20 x 25	500	18 Cases
44736GB	White Domed Sip-thru Lid	To fit 8oz	10 x 100	1000	56 Cases
44938G	White Domed Sip-thru Lid	To fit 10-20oz	10 x 100	1000	48 Cases
44737GB	Black Domed Sip-thru Lid	To fit 8oz	10 x 100	1000	56 Cases
44939G	Black Domed Sip-thru Lid	To fit 10-20oz	10 x 100	1000	48 Cases



## INSULATED BROWN KRAFT RIB TRIPLE LAYER PAPER CUPS

Hot drink board cups with attached insulating jackets for handling comfort and insulation. Cups can also be custom-printed. Our lids are among the heaviest and strongest available in Europe.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
50011	4oz Kraft Ripple Wall Hot Drink Cup	113ml	25 x 40	1000	50 Cases
50005	8oz Kraft Ripple Wall Hot Drink Cup	227ml	20 x 25	500	28 Cases
50016	10oz Kraft Ripple Wall Hot Drink Cup	284ml	20 x 25	500	24 Cases
50020	12oz Squat Kraft Ripple Wall Hot Drink Cup	340ml	20 x 25	500	24 Cases
50006	12oz Kraft Ripple Wall Hot Drink Cup	340ml	20 x 25	500	24 Cases
50004	16oz Kraft Ripple Wall Hot Drink Cup	453ml	20 x 25	500	18 Cases
50012	20oz Kraft Ripple Wall Hot Drink Cup	568ml	20 x 25	500	12 Cases
44732	White Domed Sip-thru Lid	To fit 4oz	20 x 50	1000	66 Cases
44736GB	White Domed Sip-thru Lid	To fit 8oz	10 x 100	1000	56 Cases
44938G	White Domed Sip-thru Lid	To fit 10-20oz	10 x 100	1000	48 Cases
44737GB	Black Domed Sip-thru Lid	To fit 8oz	10 x 100	1000	56 Cases
44939G	Black Domed Sip-thru Lid	To fit 10-20oz	10 x 100	1000	48 Cases



## INSULATED BLACK TRIPLE LAYER PAPER CUPS

Hot drink board cups with attached insulating jackets for handling comfort and insulation. Cups can also be custom-printed. Our new lids are among the heaviest and strongest available in Europe.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
50018	4oz Black Ripple Wall Hot Drink Cup	113ml	25 x 40	1000	50 Cases
50008	8oz Black Ripple Wall Hot Drink Cup	227ml	20 x 25	500	28 Cases
50017	10oz Black Ripple Wall Hot Drink Cup	284ml	20 x 25	500	24 Cases
50019	12oz Squat Black Ripple Wall Hot Drink Cup	340ml	20 x 25	500	24 Cases
50009	12oz Black Ripple Wall Hot Drink Cup	340ml	20 x 25	500	24 Cases
50010	16oz Black Ripple Wall Hot Drink Cup	453ml	20 x 25	500	18 Cases
44732	White Domed Sip-thru Lid	To fit 4oz	20 x 50	1000	66 Cases
44736GB	White Domed Sip-thru Lid	To fit 8oz	10 x 100	1000	56 Cases
44938G	White Domed Sip-thru Lid	To fit 10-20oz	10 x 100	1000	48 Cases
44737GB	Black Domed Sip-thru Lid	To fit 8oz	10 x 100	1000	56 Cases
44939G	Black Domed Sip-thru Lid	To fit 10-20oz	10 x 100	1000	48 Cases



## INSULATED WEAVE-WRAP TRIPLE LAYER PAPER CUPS

Manufactured from premium food-grade cup stock these Ripple Wrap Insulated Paper Cups, with eye catching Weave design ensure drinks stay hot - A premium coffee-to-go product.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
50001	8oz Weave Ripple Wall Hot Drink Cup	227ml	20 x 25	500	28 Cases
50002	12oz Weave Ripple Wall Hot Drink Cup	340ml	20 x 25	500	24 Cases
50003	16oz Weave Ripple Wall Hot Drink Cup	453ml	20 x 25	500	18 Cases
44736GB	White Domed Sip-thru Lid	To fit 8oz	10 x 100	1000	56 Cases
44938G	White Domed Sip-thru Lid	To fit 10-20oz	10 x 100	1000	40 Cases
44737GB	Black Domed Sip-thru Lid	To fit 8oz	10 x 100	1000	56 Cases
44939G	Black Domed Sip-thru Lid	To fit 10-20oz	10 x 100	1000	40 Cases



### BARISTA MIXED DESIGN DOUBLE WALL PAPER CUPS

Manufactured from premium food-grade cup stock these Barista design hot drink cups feature 4 differing cafe culture designs mixed throughout each sleeve. Barista cups are printed with a matt finish.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
52011	8oz Barista Mixed design Double Wall Cups	227ml	20 x 25	500	28 Cases
52012	12oz Barista Mixed design Double Wall Cups	340ml	20 x 25	500	24 Cases



### KRAFT, BLACK & WHITE DOUBLE WALL PAPER CUPS

Manufactured from premium food-grade cup stock these hot drink cups feature an attached extra layer for handling comfort and insulation. Dispo Double wall cups are printed with a matt finish.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
52005	8oz White Double Wall Cups	227ml	20 x 25	500	28 Cases
52006	12oz White Double Wall Cups	340ml	20 x 25	500	24 Cases
52008	8oz Black Double Wall Cups	227ml	20 x 25	500	28 Cases
52009	12oz Black Double Wall Cups	340ml	20 x 25	500	24 Cases
52015	8oz Kraft Double Wall Hot Drink Paper Cup	227ml	20 x 25	500	24 Cases
52014A	12oz Kraft Double Wall Hot Drink Paper Cup	340ml	25 x 20	500	22 Cases
52014	12oz Kraft Double Wall Hot Drink Paper Cup	340ml	20 x 20	400	22 Cases

## FOOD SERVICE SUNDRIES

Complementing our Star/Ball paper cups is our fully co-ordinated range of chip scoops. Dispo White Paper Plates are made from 200gsm virgin paperboard, with barcoded packaging and can also be custom printed. Our moulded pulp fibre cup carriers are biodegradable, compostable and recyclable and packaged in barcoded outer packaging.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
44103	Small Star/Ball Design Scoops	-	1000	1000	56 Cases
44101A	Medium Star/Ball Design Scoops	-	1000	1000	66 Cases
44104P	Medium Plain Kraft Scoops	-	1000	1000	66 Cases
44015C	6" dia White paper plates	15cm/dia	10 x 100	1000	126 Cases
44018C	7" dia White paper plates	19cm/dia	10 x 100	1000	90 Cases
44023C	9" dia White paper plates	23cm/dia	10 x 100	1000	50 Cases
20260	Moulded Pulp Fibre 4 Cup Carriers	-	2 x 90	180	50 Cases
20250	Moulded Pulp Fibre 2 Cup Carriers	-	4 x 90	360	50 Cases
20270	Cardboard 2 Cup Carriers	-	24 x 25	600	18 Cases



## CAFE - MOCHA HOT DRINK PAPER CUPS AND STIRRERS

Café-Mocha design hot drink cups are made in a full range of sizes 4oz - 16oz. Cups can also be custom-printed. Our Wooden Stirrers are made of renewable, recyclable and biodegradable material sourced from well-managed forests.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
44821	4oz Café Mocha Hot Drink Cup	115ml	20 x 50	1000	60 Cases
44841	8oz Café Mocha Hot Drink Cup	227ml	20 x 50	1000	45 Cases
44831	10oz Café Mocha Hot Drink Cup	300ml	20 x 50	1000	24 Cases
44851	12oz Café Mocha Hot Drink Cup	340ml	20 x 50	1000	24 Cases
44861	16oz Café Mocha Hot Drink Cup	453ml	20 x 50	1000	18 Cases
81006	Wooden Stirrers	140mm	10 x 1000	10000	72 Cases
81010	Wooden Stirrers	180mm	10 x 1000	10000	50 Cases
44732	White Domed Sip-thru Lid	To fit 4oz	20 x 50	1000	66 Cases
44736GB	White Domed Sip-thru Lid	To fit 8oz	10 x 100	1000	56 Cases
44938G	White Domed Sip-thru Lid	To fit 10-20oz	10 x 100	1000	40 Cases
44737GB	Black Domed Sip-thru Lid	To fit 8oz	10 x 100	1000	56 Cases
44939G	Black Domed Sip-thru Lid	To fit 10-20oz	10 x 100	1000	40 Cases



## PLAIN WHITE HOT DRINK CUPS

White hot drink paper cups with new improved sip through lids are purpose made for the coffee-to-go market and are available with matching insulating sleeves for ease of handling. With single poly coating, cups can be custom-printed. Single wall cup boxes and inner sleeves bar-coded.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
44864	4oz Plain White Hot Drink Cup	115ml	20 x 50	1000	60 Cases
44865	6oz Plain White Hot Drink Cup	180ml	20 x 50	1000	36 Cases
44842	8oz Plain White Hot Drink Cup	227ml	20 x 50	1000	45 Cases
44853	12oz Plain White Hot Drink Cup	340ml	20 x 50	1000	24 Cases
44863	16oz Plain White Hot Drink Cup	453ml	20 x 50	1000	18 Cases

## LIDS AND SLEEVES

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
44931P	Small Unprinted Sleeves - Brown	To fit 8oz	2000	2000	32 Cases
44940	Large Unprinted Sleeves - Brown	To fit 10-16oz	2000	2000	32 Cases
44732	White Domed Sip-thru Lid	To fit 4oz	20 x 50	1000	66 Cases
44734	White Domed Sip-thru Lid	To fit 6oz	20 x 100	2000	35 Cases
44736GB	White Domed Sip-thru Lid	To fit 8oz	10 x 100	1000	56 Cases
44938G	White Domed Sip-thru Lid	To fit 10-20oz	10 x 100	1000	40 Cases
44737GB	Black Domed Sip-thru Lid	To fit 8oz	10 x 100	1000	56 Cases
44939G	Black Domed Sip-thru Lid	To fit 10-20oz	10 x 100	1000	40 Cases



## HEAVY-DUTY SOUP CONTAINERS

Dispo heavy-duty paper food containers are manufactured from extra insulating 350gsm double poly coated paperboard and are suitable for a wide range of hot and cold foods. Available with vented paper and PP plastic lids, all are fridge/freezer and microwave safe. Custom printing available.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
49006	8oz HD Soup Containers	250ml	500	500	44 Cases
49007	12oz HD Soup Containers	360ml	500	500	44 Cases
49008	16oz HD Soup Containers	500ml	500	500	33 Cases
49014	26oz HD Soup Containers	769ml	500	500	33 Cases
49009	32oz HD Soup Containers	960ml	500	500	16 Cases
49015	8oz Kraft HD Soup Containers	250ml	500	500	44 Cases
49016	12oz Kraft HD Soup Containers	360ml	500	500	44 Cases
49017	16oz Kraft HD Soup Containers	500ml	500	500	33 Cases
49018	26oz Kraft HD Soup Containers	769ml	500	500	33 Cases
49019	32oz Kraft HD Soup Containers	960ml	500	500	16 Cases
49010	8oz - 16oz Paper Vented Lids	To fit 8oz - 16oz	500	500	27 Cases
49011	26oz - 32oz Paper Vented Lids	To fit 26oz - 32oz	500	500	24 Cases
49020	8oz - 16oz Kraft Paper Vented Lids	To fit 8oz - 16oz	500	500	27 Cases
49021	26oz - 32oz Kraft Paper Vented Lids	To fit 26oz - 32oz	500	500	24 Cases
49012	8oz - 16oz Plastic Vented Lids	To fit 8oz - 16oz	500	500	56 Cases
49013	26oz - 32oz Plastic Vented Lids	To fit 26oz - 32oz	500	500	56 Cases

## ingeo COMPOSTABLE WHITE HOT DRINK CUPS

Compostable and biodegradable high quality hot drink paper cups are purpose made for the coffee-to-go market. With single PLA coating, cups can be custom-printed.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
44871	4oz PLA Compostable Hot Drink Cup	115ml	20 x 50	1000	60 Cases
44870	6oz PLA Compostable Hot Drink Cup	180ml	20 x 50	1000	36 Cases
44872	8oz PLA Compostable Hot Drink Cup	227ml	20 x 50	1000	36 Cases
44873	12oz PLA Compostable Hot Drink Cup	340ml	20 x 50	1000	24 Cases
44874	16oz PLA Compostable Hot Drink Cup	453ml	20 x 50	1000	18 Cases

## ingeo COMPOSTABLE LIDS

Compostable high quality CPLA lids.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
44877	Compostable White Domed Sip-thru Lid	To fit 8oz Hot Cup	10 x 100	1000	42 Cases
44878	Compostable White Domed Sip-thru Lid	To fit 10-20oz Hot Cup	10 x 100	1000	42 Cases
44884	Compostable White Domed Sip-thru Lid	To fit 4oz Hot Cup	20 x 50	1000	77 Cases
44880	Compostable White Domed Sip-thru Lid	To fit 6oz Hot Cup	20 x 50	1000	56 Cases
44885	Compostable Black Domed Sip-thru Lid	To fit 8oz Hot Cup	10 x 100	1000	42 Cases
44886	Compostable Black Domed Sip-thru Lid	To fit 10-20oz Hot Cup	10 x 100	1000	42 Cases



## ingeo COMPOSTABLE SOUP CONTAINERS

Compostable and biodegradable White soup containers lined with PLA. Containers have good thermal properties and are also suitable for ice cream, pasta and frozen yoghurt. Containers can be custom printed. Also available PE coated to special order.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
49001	8oz White Compostable Soup Containers	280ml	20 x 50	1000	24 Cases
49002	12oz White Compostable Soup Containers	415ml	20 x 25	500	24 Cases
49003	16oz White Compostable Soup Containers	550ml	20 x 25	500	24 Cases
49004	Small Compostable Soup Container Lid	To fit 8oz Soup	20 x 50	1000	36 Cases
49005	Large Compostable Soup Container Lid	To fit 12oz & 16oz Soup	10 x 50	500	36 Cases





## RECYCLABLE, COMPOSTABLE, PLASTIC FREE LINING, DOUBLE WALL CUPS

Double Wall Paper Cups, manufactured using a waterproof aqueous board lining. Repulpable with normal paper waste or home compostable. These attractive cups tick all the boxes, without the premium price.

Perfect paired with our plastic free Bagasse Lids

CODE	DESCRIPTION	CASED	SIZE	CARTON	PALLET
64000	8oz Double Wall Compostable Aqueous Cups	20 x 25	227ml	500	32 Cases
64001	12oz Double Wall Compostable Aqueous Cups	20 x 25	340ml	500	24 Cases

CODE	DESCRIPTION	CASED	SIZE	CARTON	PALLET
66000F	8oz Bagasse Compostable Hot Drink Sip Thru Lids	20 x 50	80mm	1000	46 Cases
66001F	12oz Bagasse Compostable Hot Drink Sip Thru Lids	20 x 50	90mm	1000	36 Cases



## ingeo KRAFT COMPOSTABLE DOUBLE WALL PAPER CUPS

Manufactured from premium food-grade cup stock these PLA lined Kraft Double Wall hot drink cups feature an attached extra layer for handling comfort and insulation. Dispo Double wall cups are printed with a matt finish.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
44881	8oz Kraft Compostable Double Wall Cups	227ml	20 x 25	500	28 Cases
44887	10oz Kraft Compostable Double Wall Cups	300ml	20 x 25	500	24 Cases
44882	12oz Kraft Compostable Double Wall Cups	340ml	20 x 25	500	24 Cases
44883	16oz Kraft Compostable Double Wall Cups	453ml	20 x 25	500	18 Cases
44877	Compostable White Domed Sip-thru Lid	To fit 8oz Hot Cup	10 x 100	1000	42 Cases
44878	Compostable White Domed Sip-thru Lid	To fit 10-20oz Hot Cup	10 x 100	1000	42 Cases
44884	Compostable White Domed Sip-thru Lid	To fit 4oz Hot Cup	20 x 50	1000	77 Cases
44885	Compostable Black Domed Sip-thru Lid	To fit 8oz Hot Cup	10 x 100	1000	42 Cases
44886	Compostable Black Domed Sip-thru Lid	To fit 10-20oz Hot Cup	10 x 100	1000	42 Cases



## ingeo MIXED DESIGN COMPOSTABLE SINGLE WALL BAMBOO CUPS

Compostable and biodegradable high quality hot drink cups are purpose made for the coffee-to-go market. With single PLA coating, cups can be custom-printed. Manufactured from the fastest growing plant (grass) on the planet, Bamboo. Much more sustainable, certain species of bamboo can grow 91 cm (36 in) within a 24-hour period. Cups look and perform as well if not better than regular paper cups.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
51001	8oz Mixed Design Compostable Bamboo Cups	227ml	20 x 50	1000	36 Cases
51007	10oz Mixed Design Compostable Bamboo Cups	284ml	20 x 50	1000	24 Cases
51002	12oz Mixed Design Compostable Bamboo Cups	340ml	20 x 50	1000	24 Cases
44877	Compostable White Domed Sip-thru Lid	To fit 8oz Cup	10 x 100	1000	42 Cases
44878	Compostable White Domed Sip-thru Lid	To fit 10-20oz Hot Cup	10 x 100	1000	42 Cases
44885	Compostable Black Domed Sip-thru Lid	To fit 8oz Cup	10 x 100	1000	42 Cases
44886	Compostable Black Domed Sip-thru Lid	To fit 10-16oz Cup	10 x 100	1000	42 Cases



## ingeo ULTIMATE ECO BAMBOO COMPOSTABLE CUPS

Dispo ULTIMATE ECO Compostable Bamboo cups feature a one size lid system making life easier and reducing inventory costs. The reassuringly strong double base design keeps drinks warmer longer, prevents cups from jamming together and ensures leakages are not possible. Finally the insulating ripple wrap is on the inside of the cups allowing for superior printed graphics with no loss of insulation.

Bamboo is one of the fastest growing plants in the world and more sustainable than paper.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
51004	8oz Ultimate Eco Bamboo Compostable Cups	227ml	20 x 25	500	24 Cases
51005	12oz Ultimate Eco Bamboo Compostable Cups	340ml	20 x 25	500	24 Cases
51006	16oz Ultimate Eco Bamboo Compostable Cups	453ml	20 x 25	500	20 Cases
53015P	Black Aqueous Paper Sip-thru Lid	To fit Ultimate	20 x 50	1000	56 Cases



## Aqueous KRAFT COMPOSTABLE & RECYCLABLE RIPPLE PAPER CUPS

Aqueous coated compostable ripple wall hot drink cups with plastic free lining feature attached insulating jackets for handling comfort and insulation. Custom printing available

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
54001A	8oz Kraft Aqueous Compostable Ripple Cups	227ml	20 x 25	500	28 Cases
54002A	12oz Kraft Aqueous Compostable Ripple Cups	340ml	20 x 25	500	24 Cases
54003A	16oz Kraft Aqueous Compostable Ripple Cups	453ml	20 x 25	500	18 Cases
44877	Compostable White Domed Sip-thru Lid	To fit 8oz Cup	10 x 100	1000	56 Cases
44878	Compostable White Domed Sip-thru Lid	To fit 10-20oz Hot Cup	10 x 100	1000	48 Cases
44885	Compostable Black Domed Sip-thru Lid	To fit 8oz Cup	10 x 100	1000	56 Cases
44886	Compostable Black Domed Sip-thru Lid	To fit 10-16oz Cup	10 x 100	1000	48 Cases



## AQUEOUS COATED PAPER LIDS FOR HOT DRINK PAPER CUPS

Paper lids for hot drink paper cups, great for customers seeking plastic alternatives.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
70000A	Paper Sip Thru Lid for 8oz paper cups	80mm	20 x 50	1000	40 Cases
70001A	Paper Sip Thru Lid for 12-16oz paper cups	90mm	20 x 50	1000	35 Cases

## WOOD & BAMBOO CUTLERY

Hardwood cutlery manufactured from Birchwood & Bamboo. Our Wood Cutlery is made of renewable, recyclable and biodegradable material sourced from well managed forests. Cutlery is soldier packed.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
81400	Wood Knives	165mm	10 x 100	1000	120 Cases
81401	Wood Dessertspoons	160mm	10 x 100	1000	144 Cases
81402	Wood Forks	160mm	10 x 100	1000	140 Cases
81403	Wood Teaspoons	110mm	10 x 100	1000	340 Cases
81404	Wood Chip Forks in Dispenser box	85mm	10 x 1000	10,000	60 Cases
81415	Wooden Spork	155mm	10 x 100	1000	144 Cases
81408	Individually Wrapped Bamboo Chopsticks	210mm	10 x 100	1000	75 Cases
81409	Bamboo Gun Shaped Skewers	180mm	10 x 100	1000	250 Cases
81410	Bamboo Gun Shaped Skewers	150mm	10 x 100	1000	305 Cases
81411	Bamboo Gun Shaped Skewers	90mm	10 x 100	1000	325 Cases
81412	Wooden Ice Cream Spade	95mm	10 x 100	1000	400 Cases
81413	Wooden Disc Stirrer	150mm	10 x 100	1000	288 Cases
81006	Wooden Stirrers	140mm	10 x 1000	10,000	72 Cases
81010	Wooden Stirrers	180mm	10 x 1000	10,000	50 Cases
81414	Wooden Cutlery Pack, Knife, Fork & Spoon	Mixed	500	500	50 Cases





## **COMPOSTABLE PLA SMOOTHIE CUPS & LIDS**

Strong and light. Perfect for cold drinks or snacks up to 40°C.

Made from PLA, a sustainable, renewable plant-based material.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
21000	9oz Plain PLA Smoothie Cups	255ml	20 x 50	1000	30 Cases
21001	12oz Plain PLA Smoothie Cups	340ml	20 x 50	1000	30 Cases
21002	16oz Plain PLA Smoothie Cups	453ml	20 x 50	1000	24 Cases
21003	20oz Plain PLA Smoothie Cups	568ml	20 x 50	1000	19 Cases
21004	PLA Straw Slot Smoothie Lids	To fit 9oz to 20oz Cup	20 x 50	1000	31 Cases
21005	PLA Domed Smoothie Lids	To fit 9oz to 20oz Cup	20 x 50	1000	28 Cases



## **VENDING AND NON-VENDING CUPS**

Paper watercones and Plastic Non-vending cups made from virgin food grade material meet the demand for a low-cost disposable cold drink cup and are suitable for use with watercoolers. All are recyclable.

CODE	DESCRIPTION	SIZE	DIA	WEIGHT	CASED	CASE	PALLET
44001B	5oz PP Translucent Non-vending cup	156ml	70mm	1.8g	20 x 100	2000	40 Cases
44004AS	7oz Tall PP Translucent Non-vending cup	227ml	70mm	2.5g	20 x 100	2000	44 Cases
44004C	7oz Tall PP Translucent Non-vending cup	227ml	70mm	2.5g	10 x 100	1000	76 Cases
44004S	7oz Tall PP White Non-vending cup	227ml	70mm	2.5g	20 x 100	2000	44 Cases
44004B	7oz Tall PP Blue Tint Non-vending cup	227ml	70mm	2.4g	20 x 100	2000	44 Cases
44004BA	7oz Tall PP Blue Tint Non-vending cup	227ml	70mm	2.4g	10 x 100	1000	76 Cases
44009S	9oz PP Translucent Non-vending cup	270ml	73mm	2.9g	20 x 100	2000	30 Cases
CR204-US	4oz White Biodegradable Water Cone	118ml	67mm	-	25 x 200	5000	36 Cases
22000A	7oz PLA Compostable Clear Non-vend cup	200ml	70mm	2.2g	30 x 50	1500	36 Cases



## PRISM PAPER VENDING CUPS

Dispo Paper Vending Cups are manufactured from premium food grade cup stock and guarantee trouble free vending every time. The modern design brings the coffee shop experience to vending machines, and are also suitable for Cold Drinks, Tea or Hot Chocolate. Custom printing available

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
44803	12oz Prism Paper Vending Cups	340ml	20 x 50	1000	32 Cases
44800A	9oz Prism Paper Vending Cups	254ml	20 x 50	1000	40 Cases
44801A	7oz Squat Prism Paper Vending Cups	210ml	20 x 50	1000	50 Cases
44802A	7oz Tall Prism Paper Vending Cups	210ml	20 x 50	1000	50 Cases
55001	9oz Prism PLA Paper Vending Cups	254ml	20 x 50	1000	40 Cases
55000	7oz Tall PLA Prism Paper Vending Cups	210ml	20 x 50	1000	50 Cases
44734	White Domed Sip-thru Lid	To fit 44800a & 44802a	20 x 100	2000	35 Cases
44736GB	White Domed Sip-thru Lid	To fit 12oz	10 x 100	1000	56 Cases
44737GB	Black Domed Sip-thru Lid	To fit 12oz	10 x 100	1000	56 Cases

## COMPOSTABLE COLD DRINK PAPER CUPS

COOL & FRESH mixed colour, double PLA coated compostable paper cups with PLA compostable straw slot lids & Domed lids to fit.

Our specialised design team can also create custom printed cups at surprisingly low cost, which are ideal for building brand loyalty or launching new products.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
59000	12oz Cool & Refreshing Mixed Colour PLA Cups	300ml	20 x 50	1000	24 Cases
59001	16oz Cool & Refreshing Mixed Colour PLA Cups	400ml	20 x 50	1000	24 Cases
59002	22oz Cool & Refreshing Mixed Colour PLA Cups	500ml	20 x 50	1000	18 Cases
60000	PLA Straw Slot Compostable Lids	90mm	20 x 50	1000	48 Cases
60001	PLA Domed Lids with Hole	90mm	20 x 50	1000	36 Cases



## COLD DRINK PAPER CUPS

Star/Ball design, 'Coke' and 'Pepsi' recyclable, double poly coated cups in a full range of sizes with straw slot lids to fit.

Our specialised design team can also create custom printed cups at surprisingly low cost, which are ideal for building brand loyalty or launching new products.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
44202A	7oz Star/Ball Design	180ml	20 x 100	2000	27 Cases
44302	9oz Star/Ball Design	250ml	20 x 100	2000	18 Cases
44402	12oz Star/Ball Design	300ml	20 x 100	2000	24 Cases
44502	16oz Star/Ball Design	400ml	20 x 50	1000	18 Cases
44602	22oz Star/Ball Design	500ml	20 x 50	1000	18 Cases
44430	12oz 'Coke'	300ml	20 x 100	2000	24 Cases
44530	16oz 'Coke'	400ml	20 x 50	1000	18 Cases
44630	22oz 'Coke'	500ml	20 x 50	1000	18 Cases
44440	12oz 'Pepsi'	300ml	20 x 100	2000	24 Cases
44540	16oz 'Pepsi'	400ml	20 x 50	1000	18 Cases
44640	22oz 'Pepsi'	500ml	20 x 50	1000	18 Cases
44546	Translucent Straw-Slot lid to fit 16oz & 22oz	-	20 x 50	1000	24 Cases
44344	Translucent Straw-Slot lid to fit 9oz & 12oz	-	20 x 100	2000	24 Cases



## DISPOSERVE FOOD PAILS

Disoserve Food Pails are suitable for hot, cold, wet or dry food products. Food Pails are easy to fill & comfortable to hold, allowing little heat loss and condensation.

Disoserve food pails are leak and grease resistant and fully microwaveable.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
48001	16oz Round White Food Pail	500ml	10 x 50	500	24 Cases
48002	26oz Round White Food Pail	750ml	10 x 50	500	18 Cases
48003	32oz Round White Food Pail	1000ml	10 x 50	500	12 Cases
47001	16oz Compostable PLA Round Kraft Food Pail	500ml	10 x 50	500	24 Cases
47002	26oz Compostable PLA Round Kraft Food Pail	750ml	10 x 50	500	18 Cases



Custom Printing Available

## DISPOPAK FOOD CONTAINERS

DispoPak are leak and grease resistant, microwaveable, stackable, and are easy to use. DispoPak will easily hold hot, cold, wet, or dry foods. DispoPak will keep food fresh for your customers.

DispoPak food containers can also be custom printed to include your logo and design.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
38001	No 1 DispoPak White Food Container	26oz	9 x 50	450	20 Cases
38002	No 2 DispoPak White Food Container	51oz	4 x 50	200	20 Cases
38003	No 3 DispoPak White Food Container	69oz	4 x 50	200	20 Cases
38004	No 4 DispoPak White Food Container	98oz	4 x 40	160	20 Cases
38005	No 6A DispoPak White Food Container	25oz	9 x 75	675	15 Cases
38006	No 8 DispoPak White Food Container	46oz	6 x 50	300	15 Cases
CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
38007	No 1 DispoPak Kraft Food Container	26oz	9 x 50	450	20 Cases
38008	No 2 DispoPak Kraft Food Container	51oz	4 x 50	200	20 Cases
38009	No 3 DispoPak Kraft Food Container	69oz	4 x 50	200	20 Cases
38010	No 4 DispoPak Kraft Food Container	98oz	4 x 40	160	20 Cases
38011	No 6A DispoPak Kraft Food Container	25oz	9 x 75	675	15 Cases
38012	No 8 DispoPak Kraft Food Container	46oz	6 x 50	300	15 Cases



## DISPOPAK COMPOSTABLE TUCK TOP SALAD BOXES

DispoPak compostable PLA lined tuck top salad boxes are leak and grease resistant, stackable, and are easy to use. DispoPak Tuck Top boxes feature transparent PLA windows to display fresh food for your customers.

DispoPak food containers can also be custom printed to include your logo and design.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
61000	500ml PLA Tuck Top Kraft Window Salad Boxes	500ml	4 x 50	200	40 Cases
61001	700ml PLA Tuck Top Kraft Window Salad Boxes	700ml	4 x 50	200	30 Cases
61002	900ml PLA Tuck Top Kraft Window Salad Boxes	900ml	4 x 50	200	30 Cases
61003	1200ml PLA Tuck Top Kraft Window Salad Boxes	1200ml	4 x 50	200	30 Cases



## KRAFT SALAD BOWLS WITH PP & PET LIDS

Dispo Kraft Salad Bowls are perfect for Salads or Poke. Available with clear microwavable PP air tight lid or clear PET Lid which will keep your products fresh. Custom Printing available.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
62003	Extra Large Kraft Salad Bowls	1300ml	6 x 50	300	15 Cases
62000	Large Kraft Salad Bowls	1090ml	6 x 50	300	21 Cases
62002	Medium Kraft Salad Bowls	750ml	6 x 50	300	25 Cases
62001	Small Kraft Salad Bowls	500ml	6 x 50	300	25 Cases
63004	Extra Large PET Salad Bowl Lids	to fit 62003	6 x 50	300	30 Cases
63005	Extra Large PP Salad Bowl Lids	to fit 62003	6 x 50	300	30 Cases
63007	Large PET Salad Bowl Lids	to fit 62000	6 x 50	300	30 Cases
63003	Large PP Salad Bowl Lids	to fit 62000	6 x 50	300	30 Cases
63006	PET Salad Bowl Lids	To fit 62001 & 62002	6 x 50	300	35 Cases
63000	PP Salad Bowl Lids	To fit 62001 & 62002	6 x 50	300	35 Cases
CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
62003G	'Value' Extra Large Kraft Salad Bowls	1300ml	6 x 50	300	15 Cases
63005G	'Value' PP Large Salad Bowl Lids	For 1000ml & 1300ml	6 x 50	300	30 Cases



## RECTANGULAR KRAFT DELI BOWLS WITH PP, PET & BOARD LIDS

Dispo Rectangular Kraft Deli Bowls. Available with clear microwavable PP air tight lid, clear PET Lid or vented Kraft board lid will keep your products fresh. Custom Printing available.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
68002	1000ml Rectangular Kraft Deli Bowls	1000ml	6 x 50	300	25 Cases
68001	750ml Rectangular Kraft Deli Bowls	750ml	6 x 50	300	25 Cases
68003	650ml Rectangular Kraft Deli Bowls	650ml	6 x 50	300	25 Cases
68000	500ml Rectangular Kraft Deli Bowls	500ml	6 x 50	300	25 Cases
69001	PET Salad Bowl Lids	To fit 500ml to 1000ml	6 x 50	300	35 Cases
69000	PP Salad Bowl Lids	To fit 500ml to 1000ml	6 x 50	300	35 Cases
69002	Kraft Vented Paper Lids	To fit 500ml to 1000ml	6 x 50	300	35 Cases



## KRAFT GREASEPROOF FOOD TRAYS

Dispo Kraft Greaseproof Food Trays are perfect for fast serving at events and street food stalls.

These trays nest well for efficient packaging. A cost-effective choice for outdoor food service.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
78001	2lb Rectangular Greaseproof Food Tray	(Base L105 x W65 x H42mm)	4 x 250	1000	56 Cases
78000	Square Greaseproof Food Tray	(Base L110 x W110 x H50mm)	2 x 250	500	52 Cases
78002	5lb Rectangular Greaseproof Food Tray	(Base L165 x W95 x H55mm)	2 x 250	500	50 Cases



## PAPER SOUFFLE POTS

Dispo biodegradable souffle pots are designed with tightly rolled rims and box pleats which keep our condiment cups in the best condition for use when needed. A practical solution for serving condiments, sauces & dips while also being widely used for sampling, tasting, and medical applications.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
75000	1oz Paper Portion Pots	1oz	20 x 250	5000	60 Cases
75001	2oz Paper Portion Pots	2oz	20 x 250	5000	36 Cases
75002	3.25oz Paper Portion Pots	3.25oz	20 x 250	5000	25 Cases



## DISPO BAGASSE RANGE

Our economical and sturdy Bagasse tableware is produced from sugarcane waste material. These products are home compostable and suitable for hot, wet and oily foods, offering superior performance to paper or EPS equivalents.

Custom printing available at £11.25/1000 per colour.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
91001	6" Bagasse Round Plate	155mm dia	8 x 125	1000	60 Cases
91002	7" Bagasse Round Plate	180mm dia	8 x 125	1000	50 Cases
91010	9" Bagasse Round Plate	225mm dia	4 x 125	500	60 Cases
91011	10" Bagasse Round Plate	260mm dia	4 x 125	500	30 Cases
91009	10" Bagasse 3 Compartment Round Plate	260mm dia	4 x 125	500	30 Cases
91003	12oz Round Bagasse Bowl	160mm dia/340ml	8 x 125	1000	35 Cases
91004	16oz Round Bagasse Bowl	175mm dia/454ml	8 x 125	1000	25 Cases
91012	10" x 12" Bagasse Oval Plates	250mm x 300mm	4 x 125	500	27 Cases
91007	15cm Square Bagasse Plate	150mm x 150mm	4 x 125	500	105 Cases
91006	20cm Square Bagasse Plate	200mm x 200mm	4 x 125	500	70 Cases
91005	26cm Square Bagasse Plate	260mm x 260mm	2 x 125	250	72 Cases
91008	Rectangular Bagasse Plate	260mm x 130mm	4 x 125	500	72 Cases
91014	6" Bagasse Burger Box	145mm x 145mm x 75mm	4 x 125	500	30 Cases
91016	8" Bagasse 3 Compartment Meal Box	220mm x 202mm x 70mm	2 x 100	200	42 Cases
91015	9" Bagasse Clamshell Meal Box	235mm x 230mm x 75mm	2 x 100	200	42 Cases
91013	9" Bagasse 3 Compartment Meal Box	235mm x 230mm x 75mm	2 x 100	200	42 Cases
91018	9" x 6" Bagasse Lunch Box	160mm x 230mm x 75mm	2 x 125	250	49 Cases
91017	9" x 6" Bagasse 2 Compartment Lunch Box	165mm x 250mm x 60mm	2 x 125	250	36 Cases
91021	7" Chip Tray	185mm x 135mm	8 x 125	1000	45 Cases
91022	7" x 5" Bagasse Clamshell Lunch Box	180mm x 125mm x 65mm	6 x 100	600	30 Cases
91024	8.5" x 5" Deep Bagasse Tray	215mm x 140mm	4 x 125	500	40 Cases
66000F	8oz Bagasse Hot Drink Sip Thru Lids	80mm	20 x 50	1000	46 Cases
66001F	12oz Bagasse Hot Drink Sip Thru Lids	90mm	20 x 50	1000	36 Cases
91025	32oz Bagasse Round Bagasse Bowl	208mm dia/909ml	10 x 50	500	40 Cases
91026	Extra Large Bagasse Fish & Chips Box	324mm x 155 x 75mm	2 x 100	200	50 Cases
91027	Lid for 32oz Bagasse Round Bagasse Bowl	208mm dia	10 x 50	500	20 Cases
91028	No.1 Rectangular Bagasse Tray	200mm x 100mm x 20mm	8 x 125	1000	32 Cases
91029	No.3 Rectangular Bagasse Tray	210mm x 160mm x 30mm	8 x 100	800	20 Cases
91030	Bagasse Chippy Tray	175mm x 130mm x 30mm	4 x 125	500	96 Cases
91031	Bagasse 1000ml Lunchbox	242mm x 161mm x 75mm	10 x 50	500	24 Cases
91032	Bagasse 8" Clamshell	205mm x 221mm x 65mm	4 x 50	200	52 Cases
91033	Bagasse 10" Clamshell	246mm x 247mm x 75mm	4 x 50	200	30 Cases



NEW



91025



91026

## BAGASSE SAUCE CONTAINERS & LIDS

4oz Bagasse sauce containers & lids.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
66003	4oz Bagasse Sauce Containers	4oz	25 x 100	2500	34 Cases
66005	4oz Bagasse Sauce Container Lids	to fit 4oz	50 x 50	2500	34 Cases

## BAGASSE CUTLERY

Bagasse Cutlery, packed in barcoded packs of 100. This compostable sugarcane cutlery is sturdy with a smooth mouthfeel, a perfect option for those seeking an alternative to wood or paper cutlery.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
81600	Compostable Sugarcane Bagasse Knives	155mm	10 x 100	1000	90 Cases
81601	Compostable Sugarcane Bagasse Spoons	153mm	10 x 100	1000	80 Cases
81602	Compostable Sugarcane Bagasse Forks	151mm	10 x 100	1000	85 Cases



## RPET CE MARKED PINT & HALF PINT TUMBLERS

Perfectly clear recyclable thermoformed recycled Polyethylene Terephthalate (rPET) Pint & Half Pint CE marked tumblers

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
18208	10oz Rpet CE Marked Tumblers	284ml	20 x 50	1000	33 Cases
18209	20oz Rpet CE Marked Tumblers	568ml	20 x 50	1000	22 Cases

## RED PARTY CUPS

12oz & 16oz Red party cups. Perfect for Parties, BBQ's, American themed parties and Beer Pong.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
14002	12oz Red Plastic Party Cups	340ml	20 x 50	1000	28 Cases
14001	16oz Red Plastic Party Cups	450ml	20 x 50	1000	24 Cases



## KATERGLASS® CE MARKED TUMBLERS

Katerglass Tumblers are made from high clarity, flexible polypropylene for improved crack resistance, injection moulded to ensure consistent wall strength and feature rolled rims for drinking comfort. Katerglasses are certified by Trading Standards (CE marked) where applicable. Katerglass tumblers are available with hi-tech in-mould labelling, MOQ 10,000. Please contact us for pricing.

CODE	DESCRIPTION	LINED AT	CASED	CARTON	PALLET
17207CE	CE Marked 10oz Katerglass Half Pint Brimfull	10fl oz	20 x 50	1000	36 Cases
17206CE	CE Marked 20oz Katerglass Pint Brimfull	20fl oz	20 x 25	500	36 Cases
17205CE	CE Marked 12oz Katerglass Half Pint	10fl oz	20 x 50	1000	36 Cases
17213CE	CE Marked 22oz Katerglass Pint	20fl oz	20 x 25	500	36 Cases
17241CE	CE Marked 2 Pint Katerglass Tumbler	40fl oz	9 x 37	333	18 Cases



## FLEXIBLE CE MARKED POLYPROPYLENE PLASTIC TUMBLERS

Vacuum formed flexible translucent polypropylene, CE Marked. Pint and Half Pint Tumblers are packed in individually barcoded sleeves, ideal for retail sales.

CODE	DESCRIPTION	LINED AT	CASED	CARTON	PALLET
13012CED	CE Marked Flexi 10oz Half Pint Brimfull Tumbler	10fl oz	20 x 50	1000	45 Cases
13014CED	CE Marked Flexi 12oz Half Pint to line Tumbler	10fl oz	20 x 50	1000	45 Cases
13011CED	CE Marked Flexi 20oz Pint Brimfull Tumbler	20fl oz	20 x 50	1000	22 Cases
13013CED	CE Marked Flexi 22oz Pint to line Tumbler	20fl oz	20 x 50	1000	22 Cases
18506	Flat rPET lids to fit 22oz Pint Tumblers	-	20 x 50	1000	50 Cases
18505	Flat rPET lids to fit 10oz & 12oz Half Pint Tumblers	-	20 x 50	1000	50 Cases



PP Flexi range



## rPET SMOOTHIE CUPS AND LIDS

Perfectly clear recyclable thermoformed recycled Polyethylene Terephthalate (rPET) smoothie cups with domed or straw slot lids. Printing available from £5.00/1000,.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
18201	rPET Tulip 8oz Clear Glass	250ml	25 x 50	1250	24 Cases
18206	rPET Tulip 10oz Plain Glass	300ml	25 x 50	1250	24 Cases
18203	rPET Tulip 12oz Plain Glass	350ml	25 x 50	1250	24 Cases
18402	rPET 15oz Straight Glass	440ml	20 x 50	1000	18 Cases
18202	rPET 16oz Straight Glass	470ml	20 x 50	1000	28 Cases
18301	rPET Tulip 20oz Glass	550ml	16 x 50	800	28 Cases
18502	rPET 78mm Straw Slot Lid	8oz/10oz/12oz	25 x 50	1250	32 Cases
18606	rPET 92mm Straw Slot Lid	15oz/16oz	20 x 50	1000	28 Cases
18503	rPET 95mm Straw Slot Lid	20oz	16 x 50	800	30 Cases
18506	rPET 95mm Flat Lid	20oz	20 x 50	1000	50 Cases
18601	rPET 78mm Domed Lid With Hole	8oz/10oz/12oz	25 x 50	1250	32 Cases
18605	rPET 92mm Domed Lid With Hole	15oz/16oz	20 x 50	1000	28 Cases
18602	rPET 95mm Domed Lid With Hole	20oz	16 x 50	800	32 Cases
44547	rPET 78mm Soda Can Sip Thru Lids	8oz/10oz/12oz	25 x 50	1250	28 Cases
44548	rPET 92mm Soda Can Sip Thru Lids	15oz/16oz	20 x 50	1000	28 Cases

## PAPER & PLASTIC STRAWS

A range of flexible and straight straws in dispenser boxes.

Straws are produced from food grade polypropylene & PLA which meets all European regulations.

Dispo Paper Straws are 3 ply 195mm x 6mm and cased in dispenser boxes of 250.

Our paper straws are FSC certified.



CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
83001	Black Flexi Straws In Dispenser Box	210mm x 5mm	40 x 250	10000	32 Cases
84001	Black Flexi Straws In Dispenser Box	210mm x 6mm	40 x 250	10000	16 Cases
85003	Black Spoon Straws in Dispenser Box	200mm x 8mm	25 x 200	5000	32 Cases
85007	Clear Super Smoothie Straws In Dispenser	200mm x 9mm	25 x 200	5000	36 Cases
86001	PLA Black Bendy Straws	195mm x 5mm	20 x 250	5000	56 Cases
86002	PLA Black Bendy Straws	195mm x 6mm	20 x 250	5000	40 Cases
86003	PLA Natural White Smoothie Straws	200mm x 9mm	20 x 250	5000	21 Cases
86005	PLA Black Spoon Straws	200mm x 8mm	25 x 200	5000	24 Cases
44890	Black Paper Straws	195mm x 6mm	20 x 250	5000	36 Cases
44891	Red Stripe Paper Straws	195mm x 6mm	20 x 250	5000	36 Cases
44892	White Paper Straws	195mm x 6mm	20 x 250	5000	36 Cases
44893	Blue Stripe Paper Straws	195mm x 6mm	20 x 250	5000	36 Cases
44894	Black Stripe Paper Straws	195mm x 6mm	20 x 250	5000	36 Cases
44896	Individually Wrapped White Paper Straws	195mm x 6mm	1000	1000	120 Cases

## DISPLAST® PLASTIC WINE GLASSES

Strong, one-piece injection-moulded - recyclable.

CODE	DESCRIPTION	LINED AT	CASED	CARTON	PALLET
I0151	8oz PS Classique Wine Glass	-	30 x 4	120	20 Cases
I0110A	CE Marked PS 50ml Shot/Sampling Glass	20/40ml	30 x 50	1500	60 Cases
I0103M	CE Marked PS 30ml Shot/Sampling Glass	20ml	20 x 50	1000	192 Cases
I0154C	6oz PS Champagne Flutes	-	10 x 10	100	30 Cases
I0154PP	CE Marked PP 6oz Champagne Flutes	100ml/125ml	10 x 10	100	30 Cases
I1140C	5oz 2 Piece PS Margarita Glass with Clear Base	150ml	24 x 6	144	70 Cases
I1150C	6oz 2 Piece PS Wine Glass with Clear Base	175ml	24 x 6	144	70 Cases
I0152D	6oz PS Wineglass - with Euroslot Hanger	170ml	24 x 6	144	70 Cases

## DISPLAST® €€ BOMB SHOT GLASSES

Dispo Bomb-Shot glasses are manufactured from non shatter high clarity Polypropylene and are CE marked. Each glass is comprised of a 25ml CE shot measure set inside an outer cup of 60ml.

CODE	DESCRIPTION	LINED AT	CASED	CARTON	PALLET
I0104P	CE Marked Bomb Shot Glasses	-	20 x 50	1000	40 Cases



I0103M



I0110



I0151



I1140C



I0154PP



I0154C



I0104P



I1150C



I0152D

## SAUCE CONTAINERS & DISPOLITE DELI CONTAINERS

2oz and 4oz 71mm diameter microwavable PP sauce containers and PET lids.

1000 containers & 1000 lids per box. Containers and lids are in barcoded packs of 100.

1oz, 2oz & 4oz Hinged PP sauce containers, fully microwavable.

DispoLite 116mm diameter clear deli containers are available in 8, 12, 16 & 32oz sizes with a universal lid.

Manufactured from PP DispoLite containers allow you to show off the freshness and high quality of your food.

DispoLite PP containers are tough, light as well as reusable. They can go from the refrigerator to the microwave to the dishwasher without fear of damage

4oz & 7oz Paper Sauce containers and vented PP lids, fully microwavable

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
15032	2oz Containers and Lids	2oz	20 x 100	2000	40 Cases
15033	4oz Containers and Lids	4oz	20 x 100	2000	40 Cases

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
15036	1oz Hinged Sauce Containers	30cc	20 x 50	1000	70 Cases
15037	2oz Hinged Sauce Containers	60cc	20 x 50	1000	48 Cases
15038	4oz Hinged Sauce Containers	120cc	10 x 50	500	56 Cases

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
15026	8oz DispoLite Clear Deli Containers	240ml	10 x 50	500	36 Cases
15027	12oz DispoLite Clear Deli Containers	360ml	10 x 50	500	30 Cases
15028	16oz DispoLite Clear Deli Containers	480ml	10 x 50	500	30 Cases
15030	32oz DispoLite Clear Deli Containers	1000ml	10 x 50	500	24 Cases
15031	DispoLite Clear Deli Container Lids	116mm dia	10 x 50	500	36 Cases

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
49025	4oz Plain White Paper Sauce Container	4oz	20 x 50	1000	36 Cases
49027	7oz Plain White Hot Drink Cup	7oz	20 x 50	1000	50 Cases
49026	PP Vented Lids to fit 4oz & 7oz Containers	4oz & 7oz	20 x 50	1000	48 Cases



New Hinged Sauce Containers



## DISPOTEX® 45gsm BANQUET ROLLS

The economical solution to tablecoverings for catering events and available in a huge range of colours.

All Dispotex® Banquet Rolls are individually wrapped in clear film with a bar-coded label.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
32266A	White	100m	1	1	38 Cases
32266	White	100m	3	3	80 Cases
CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
32259	White	50m	4	4	38 Cases
CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
32287	White	25m	10	10	38 Cases

## DISPOTEX® 38gsm BANQUET ROLLS

The economical solution to tablecoverings for catering events and available in a huge range of colours.

All Dispotex® Banquet Rolls are individually wrapped in clear film with a bar-coded label.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
92266A	White	100m	1	1	38 Cases
92266	White	100m	3	3	80 Cases
CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
92287	White	25m	4	4	38 Cases



## DISPOTEX® TABLECOVERS

Dispotex® is the market leading brand for 90x88cm paper tablecovers, manufactured from bleached kraft paper with a heavy damask steam embossed design – completely biodegradable.

Flat-packed tablecovers offer superior crease-free presentation in any environment. Folded Tablecovers are supplied in space-saving bar-coded dispenser packs for Cash and Carry or retail sale



## DISPO VALUE FOLDED TABLECOVERS

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
72201F	White	90x90cm	10 x 25	250	28 Cases

## DISPO FLATPACKED TABLECOVERS

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
32201B	White (40gsm)	90x90cm	250	250	52 Cases

## CLEAR REUSABLE HEAVY DUTY PLASTIC CUTLERY

Clear Luxury, high impact food-grade styrene cutlery. Clear Cutlery is soldier packed in barcoded inner and outer packaging & recyclable. Cutlery is dishwasher safe.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
81301	Clear Reusable Knives	179mm	40 x 50	2000	66 Cases
81302	Clear Reusable Forks	179mm	40 x 50	2000	66 Cases
81303	Clear Reusable Dessertspoons	179mm	40 x 50	2000	36 Cases
81304	Clear Reusable Teaspoons	150mm	40 x 50	2000	63 Cases

## ALUDIS® FOIL PLATTERS

Oval foil platters offer sophisticated food presentation at minimal cost. Our platters are disposable and ideal for attractive food display. Platters can be re-used several times and are particularly popular with outside caterers.

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
53560XX	Oval Platters - Cash & Carry packs	35cm	10 x 10	100	57 Cases
53561XX	Oval Platters - Cash & Carry packs	43cm	10 x 10	100	42 Cases
53562JXX	Oval Platters - Cash & Carry packs	55cm	6 x 10	60	40 Cases



## DISPOTEX® DOYLEYS, TRAYPAPERS & PLACEMATS

Dispotex® Doyleys and Traypapers are made with great care from pure bleached kraft paper and hand-finished to ensure consistently high quality. Embossed scalloped edge Placemats in extra-thick 60gsm paper absorb any small spills and protect tablecoverings.

### PURE WHITE ROUND LACE DOYLEYS

CODE	DESCRIPTION/COLOUR	SIZE	CASED	CARTON	PALLET
33921	4.5" White Doyley	11cm/dia	8 x 250	2000	480 Cases
33922	5.5" White Doyley	14cm/dia	8 x 250	2000	360 Cases
33923	6.5" White Doyley	17cm/dia	8 x 250	2000	360 Cases
33924	7.5" White Doyley	19cm/dia	8 x 250	2000	180 Cases
33925	8.5" White Doyley	22cm/dia	8 x 250	2000	180 Cases
33926	9.5" White Doyley	24cm/dia	8 x 250	2000	96 Cases
33927	10.5" White Doyley	27cm/dia	8 x 250	2000	80 Cases
33928A	12" White Doyley	31cm/dia	4 x 250	1000	144 Cases

### RECTANGULAR WHITE TRAYPAPERS WITH LACE BORDER

CODE	DESCRIPTION/COLOUR	SIZE	CASED	CARTON	PALLET
33930	No 2 White Traypaper 10" x 14.5"	25x35cm	4 x 250	1000	190 Cases
33933	No 3 White Traypaper 12" x 16"	30x40cm	4 x 250	1000	190 Cases

### RECTANGULAR EMBOSSED SCALLOPED EDGE PLACEMATS

CODE	DESCRIPTION	SIZE	CASED	CARTON	PALLET
65971	White Placemats	24x34cm	4 x 250	1000	100 Cases
65991	Red Gingham Placemats	24x34cm	4 x 250	1000	100 Cases



Dispo International, Unit H, Rosie Road,  
Normanton, West Yorkshire, WF6 1ZB

**T: (+44) (0)1924 893600      E: sales@dispo.co.uk**

**[www.dispo.co.uk](http://www.dispo.co.uk)**

Terms and Conditions: Prices are subject to change without notice. A full copy of our terms is available upon request or can be viewed at [www.dispo.co.uk/terms.html](http://www.dispo.co.uk/terms.html)

All prices are exclusive of VAT, Non EU/VAT exempt pay the exclusive price. Orders below £400 in value will be surcharged 5% and carriage charged at cost. Nothing in this publication forms part of any contract.

